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Note: - You have four choices for each objective type question as A, B, C and D. The choics which you think is correct; fill that circle in front of that

question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

SECTION-A ().~

Q.1 Questions/.i» A B c D
1. | The values passed to a function are called Bodies Return types Array Arguments
. R scanfsf Printf | ok QL by #
The printf and scanfare_____functions. Built-in Arithmetic | User-defined Custom
STy
What will be the output of this code?
intadd (inta, int b)
{
returna+ b,
3 ) 5 9 14 18
void main()
{
printf ("%d", add (9,5));
}
Wié‘gqu u""‘/ “Include” U2/ skt - o yry L
4| In which section “Include” statements are Header Main Comments Print
L written?
5. _4‘-&@ VQ “Printf” o] p2sl N (S| 8 (%]
“Printf” is a function: Input Output Input & Output | Mathematical
0o B 18 e _ line=thisis a
6. _— .O‘qu/guf int=20; grad='A’; line grade='B’;
Which of the given is a valid statement? )
bW bt e Sz ek 7 e y o o7 b
1. -
A set of multiple statements enclosed in Box List Block Job
braces is called:
8. '?Mﬁ‘f‘jf Float if-else Amray Loop
Which is a selection statement?
b 847 2100506 /]
9 |y the size of an array is 100, the range of 0-99 0-100 1-100 2-102
indexes will be .
et s bAtor| s 3 RA7S drst
10. part of the for fogpis executed first. Condition Body Initialization | Increment/
decrement
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é{ bz Laﬂlr”‘—éfc—(ﬂ‘f & Silpn s i

SECTION-B /».»s
2. Write short answers to any Four parts. (4x2=8) .Zé{ el P4 Lpbﬂuyééf 2
i. Write down any two rules for naming variables. -é; 7 dr‘l»[}féilrbf—:d 7
ii. What is compiler? ‘.‘4".-?’)"(1 i
{ii. When and who developed “C” language? ?_(g’:_b’—li—u{ AIJ ft 5:@ “ i
iv. Write the names of two functions for input in “C” language. _é‘frbéf%j»ééa,d!d- é;@ “5" v
v. Solve the given expression: 7+3%(12+2) ,éd’ F1A A
vi. Draw a truth table of AND operator. ,_é—l’ad':' 238 L4TAND i
3.  Write short answers to any Four parts. (4x2=8) .éd al,m}"' L»IZM;LG{ 23
i, Write the structure of i~e/se statement. _éég Y73 bt irelse i
ii. What is meant by conditional logic? Sl Y ci'JV b~ i
iii. Whatis the output of following? inta=30; e bresesldtits i
if (a>33)
printf ("Pass");
else
printf ("Fail");
iv. Differentiate between ‘i 'statement and 7f-e/se statement. ,éu_b.d /uf-J/}'-{/ “ if-else” »l L
v. How you can declare an array? ?u't.é/ %54( Fedd v
vi. What is meant by array initialization? Sl /L)’c:,cf-iui"'lz.dl i
4.  Wirite short answers to any Four parts. (4x2=8) -ég Felif /:'l L,lzhl'v:_éf 4
i, Describe the structure of a for loop. i _éulbéé;_(aﬁé/—g} for .i
i, What will be the output of the following code?  for (int i=0; i< 3; i++4) ?éﬂyq_ﬁ,ﬂé;f(j,s@, i
( |
printf (" Pakistan \ n");
y |
i, What is meant by “Readability” in function? } Sl l,fa.":,zwézﬁz,”ut&f@ il
iv. Define the function parameters. 3 -éu:' /7 (5} }ﬂ ;,Ja v
v. Wiite the general structure of a function signature. ‘\ & r e lﬂfrwg L&a v
vi. Identify the errors in the given code: int product (intLq 1,intn 2) ,éut W‘Jqfu'iifiz_.-: vi
return nl*n 2;}'\
(W7 08 ALz ) ﬁ;lr.w
ies Eight 08 Marks) ‘

S A PSS, ,g-”u,ﬁﬂ-éugug A= B

ators @8 L3 4 ;;.;,Tﬂn sipdefu 6

| SECTION=C (Each
1 5. Define variables. How we can declare and

initialize a variable explain with example?

|
_éalﬁ:awéd&» I&
1
1
\

|
|
i 8. Write a detailed note on assignment operators an
f’b’w(f Ls‘{ i.é; ,7 rlﬂ‘{,uo_('é’—ﬂé-—f JU:’I#JFor 4 | 7. Write a program using for foop to print (4+4
| factorial of any number.
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SECTION-A (.o

Q.1 Questions/ =1y A B c D
ctaTund gl Est
1 ‘Jué:_ 9 2 3 4
" | If there are three return statements in the
function body, of them will be
executed.
W sudbudPeEs | N7 g oy
2. | The values passed to the function are | gtatements Arguments Indexes Variables
called
¢ “char" U:J’O L 3 e A & 250
char cd()
3. {
return*a’; Body Retum type Array Argument
}
in above function “ char” is .
A o Fn 2 G ) L L s S " Iy - el 53
4. —g-bo/ )
An “ff ” statement inside another “ /if ” Nested Boxed Repeated Decomposed
statement is called structure.
bt F S L e
5. | The index of first element of an array is Y 1 2 3
always:
e e dS i B s
6. for(int i=1; i<=4; i++) 3 4 5 6
What is the final value of ; after executing
the above code?
7. -cﬁ@lﬂfd v include i o Jf’/ 4
Include Statements are written in Header Main Comments Print
s-q_.,pé 7 45 /’,470( zUagl
8. | Which operator has the highest / - > !
precedence among the given?
9. -4.—(7'!4'()“;"4—&2.—/%!@( “%” yIx é"y/, (?143!)/1?.‘.‘4 J.J;-ﬁ é/
The operator “%” isused tocalculate___. | Percentage | Remainder Factorial Square
3 . R
10 -4—&»#‘./: v,CUJ)";?’, (b/f)»éd_} QﬁkJ u}".? (J,’Jl/é
Conditional logic helps in Traversin Relation Decisions iterations
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2. Write short answers to any Four parts. (4x2=8) _Zéz/’ T4 / Z.AZM:L&I 2
i. Define IDE. EuSSDE i
ii. Whatis compiler? ?4,_(,(},!/ i
ii. Define “Reserved words™? ,f...g A8s61,25 i
iv. Define statement terminator. -éq}é;{d/‘:ﬁi" v
v. What are logical operators? ULl 5 /‘..4;!(}90 v
vi. What will be the output of this code? Void main() ?JIIL”-'/.,_‘«’TJ!{JI i

{
printf (" Pakistan \n Punjab|n");

printf (" Pakistan \ t Punjab");
}

3.  Write short answers to any Four parts. (4x2=8) -ég Feliz ﬁ; LM!JQLGI 3
i. Write the structure of /~-e/se statement. ,ég 21 bi¥ irelse
ii. What is the use of Nested Selection Structure? ?édb‘;’lﬁb’ ¥ /./ }Jf“"y 24 i
iii. What is the output of the following? intn = 30; ‘-‘4(]&,&“&56» i
if (n>33)

printf (" Pass"),
else
printf (" Fail"),

iv. Write the names of any two types of control statements. ,aé; /'(L'Lflji ,,‘5[} féuif"-‘/ Us /J i
v. How are the values given in array initialization? ?Ufa(yd}é(dz&gﬂiu?lgﬁ v
vi. Declare an array of char type of 5 students. ‘éﬂyjéﬂéb";kcha! LSrWS i
4.  Write short answers to any Four parts. (4x2=8) ,é{ M AL ,!‘,(_(5 7 4
i Write the output of the following code? for(int n=1; n< 3, n++) ‘éqddﬂ‘d;;’ds@” i

printf (" Irfan\n");
i, Describe the difference between parameters and arguments. ,aéuw}u:u’”,é‘,un;ﬂ[, i
iii. Write names of loops used in C-language. _éﬁdrbé‘ﬂ)LbLﬂdl};’luié;@-c i
iv. What is meant by function? 9‘4,‘/&(‘;‘;{@ v
v. What is meant by return statement? ?é:’/P’c&}?u}.J p
vi. Which are different types of functions? S ;r(}, _J,'i ‘5 }) i

(LA 08 HLJir ) fre
SECTION-C (Each question carries Eight 08 Marks)

5. Whatis meant by data type of a variable? Explain -é.—»um,wédwdw‘ Wjofg Sel e L‘l‘dé 5
different data types with the help of example. (2+2+2+2)
6. What are arithmetic operators? Explain any three -éuli:&/‘.gfu@i;lcf ééf?uZLﬁLfJ AT bei) 6
arithmetic operators. (2+2+2+2)
7. Write a program using FOR loop to print Alphabets -é) (l/;/,b’é—f &4J5WJZ¢AL;1L/ e 1¥ed FOR .1
fromAto Z. (4+4) )
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